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26. Economic profits for cable TV companies that arise due to restrictive local licensing procedures are
described by:
A, frictional profits theory
B. monopoly profits theory.
C. innovation profits theory.
D. compensatory profits theory.
E. economic of scale theory.

27. The incremental profit earned from the production and sale of a new product will be higher if:
A. excess capacity can be used to produce the new product.

B. the costs of materials needed to produce the new product increase.

C. the revenues earned from existing products decrease.

D. existing facilities used to produce the new product must be modified.

E. all of the above.

28. The minimax regret criterion directs the decision maker to select the alternative that:
A. minimizes opportunity cost.

B. maximizes opportunity loss.

C. provides the best outcome in the worse case scenario.

D. provides the worst outcome in the best case scenario.

E. all of the above.

29. The demand function for a product states the relation between the aggregate quantity demanded and:
A. the market price, holding all the other factors that influence demand constant.

B. cost of production labor

C. the aggregate quantity supplied.

D. consumer utility.

E. all factors that influence demand,

30. Farmers in certain areas of Tainan can grow either yam or corn. If the price of corn increases: .
A. the supply of yarn will shift (o the left

B. the supply of yam will shift to the right.

C. the supply of comn will shift to the right.

D. the supply of both corn and yam will shift, but in opposite directions.

E. the supply of both corn and yam will shift in the same directions.

31. Which of the following is a leading economic indicator?
A. ratio of constant dollar inventories to sales for manufacture and trade.

B. average prime rate charged by banks.
C. change in credit for business and consumer borrowing
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D. commercial and industrial loans outstanding.
E. all of the above.

32. According to the law of diminishing returns, over some range of output:

A. every production function exhibits diminishing retumns to scale.

B. total product will decrease as the quantity of variable input employed increase.

C. marginal revenue will decrease as the quantity of output increases.

D. marginal product will decrease as the quantity of variable input employed increases.
E. all of the above.

33. Each point on a long-run average cost curve is the:
A. minimum point on the short-run average cost curve.
B. minimum point on the short-run marginal cost curve.
C. minimum long-run average cost of production.

D. minimum shori-run average cost of production.

E. all of the above.

34, The dependent variable in an engineering cost estimation study might depict:
A. input prices.

B. variable costs.

C. operating conditions.

D. output.

E. all of the above,

35. Relevant costs for managerial decisions are:
A. sunk costs.

B. current costs.

C. historical costs,

D, future costs.

E. all of the above,

36. Economywide inflation rarely leads to:

A. changes in optimal input combinations.

B. proportional changes in the prices of ali goods and services.

C. a significant impact on the cost projections that are relevant for managerial decision making,
D. differences in the price-level changes of various inputs,

E. all of the above,

37. A basic assumption in cost/output analysis is that:

A. differences in unit costs reflect size-associated advantages in production due to diseconomies of scale.
B. the least squares regression line lies above the true LRAC curve.
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.A. greater than marginal revenue product,

C. all firms are producing output efficiently given the scale of their operation.
D. the empirically estimated total cost/output relation traces a short-run cost curve.
E. all of the above.

38. In the short run, a perfectly competitive firm will shut down and produce nothing if:
A. the market price falls below the minimum average total cost.

B. total variable cost exceeds tolal revenue.

C. total cost exceeds total revenue.

D. excess profits equal zero.

E. none of the above.

39. A monopsony employer facing a perfectly competitive supply of labor would pay a wage:

B. greater than the perfecily competitive wage.
C. equal to marginal revenue product.

D. less than the perfectly competitive wage.

E. none of the above.

40, In both monopolistic competition and oligopoly market structures;

A. there are many sellers.

B. there is easy entry and exit.

C. economic profits may be earned in the long run,

D. consumers perceive differences among the products of various competitors.
E. all of the above.

41. A perfectly functioning cartel leads to a price/output combination identical to an industry that is:
A. monopolistic.

B. perfectly competitive.

C. monopolistically competitive.

D. oligopolistic.

E. all of the above.

42. The most prevalent pricing practice employed by business firms is:

A. setting price equal to marginal revenue.

B. setting price equal to average revenue.

C. setting price equal to average variable cost plus a charge for overhead and profit margin.
D. setting price equal to average cost.

E. none of the above.

43, Consumers’ surplus is:
A. quantity supplied minus quantity demanded.
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B. the costs consumers would have to pay to produce a product minus the amount paid to sellers.
C. the value of a good to consumers of minus the amount paid sellers.

D. the consumer’s budget minus total expenditures.

E. all of the above.

44. When products A and B are produced in fixed proportions, profit will be maximized when:
A. marginal cost equals marginal revenue of A.

B. marginal cost equals marginal revenue of B.

C. marginal cost equais marginal revenue of A plus B,

D. marginal cost of B equals zero.

E. none of the above,

45, No externalities exist when:

A, private benefits exceed social benefits.

B. private costs and benefits equal social costs and benefits.
C. private costs exceed social costs.

D. private benefits are less than social benefits.

E. none of the above, '
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